
 
Find a closed form: 

∫
𝒅𝒙

𝒙√−𝒙𝟒 + 𝟑𝒙𝟐 − 𝟐

√𝟐

𝟏

 

Proposed by Kader Tapsoba-Burkina Faso 

Solution by Mirsadix Muzefferov-Azerbaijan 

∫
𝒅𝒙

𝒙√−𝒙𝟒 + 𝟑𝒙𝟐 − 𝟐
=⏞

𝒙→
𝟏
𝒕√𝟐

𝟏

∫
−

𝟏
𝒕𝟐 𝒅𝒕

𝟏
𝒕

√−
𝟏
𝒕𝟒 +

𝟑
𝒕𝟐 − 𝟐

= ∫
𝒕𝒅𝒕

√−𝟐𝒕𝟒 + 𝟑𝒕𝟐 − 𝟏

𝟏

𝟏

√𝟐

=

𝟏

√𝟐

𝟏

 

=
𝟏

𝟐
∫

𝒅𝒕𝟐

√−𝟐𝒕𝟒 + 𝟑𝒕𝟐 − 𝟏
=⏞

𝒖→𝒕𝟐𝟏

𝟏

√𝟐

𝟏

𝟐
∫

𝒅𝒖

√−𝟐𝒖𝟐 + 𝟑𝒖 − 𝟏

𝟏

𝟏
𝟐

=⏞
𝒗=−𝟒𝒖+𝟑

 

{𝒗 = −𝟒𝒖 + 𝟑 → 𝒖 =
𝟑 − 𝒗

𝟒
→ 𝒅𝒖 = −

𝟏

𝟒
𝒅𝒗} 

= −𝟐𝒖𝟐 + 𝟑𝒖 − 𝟏 = −𝟐 .
(𝟑 − 𝒗)𝟐

𝟏𝟔
+ 𝟑.

𝟑 − 𝒗

𝟒
− 𝟏 = −

(𝟗 − 𝟔𝒗 + 𝒗𝟐)

𝟖
+

𝟗 − 𝟑𝒗

𝟒
− 𝟏 = 

=
−𝟗 − 𝒗𝟐 + 𝟔𝒗 + 𝟏𝟖 − 𝟔𝒗 − 𝟖

𝟖
=

𝟏 − 𝒗𝟐

𝟖
=

𝟏

𝟐
∫

−
𝟏
𝟒 𝒅𝒗

√𝟏 − 𝒗𝟐

𝟖

−𝟏

𝟏

=
𝟏

𝟐
. (

𝟏

𝟒
) . √𝟖 ∫

𝒅𝒗

√𝟏 − 𝒗𝟐
=

𝟏

−𝟏

 

=
√𝟐

𝟒
. 𝟐 ∫

𝒅𝒗

√𝟏 − 𝒗𝟐

𝟏

𝟎

=
√𝟐

𝟐
(𝐚𝐫𝐜𝐬𝐢𝐧(𝒗)|

𝟏

𝟎
=

√𝟐

𝟐
(𝐚𝐫𝐜𝐬𝐢𝐧(𝟏) − 𝐚𝐫𝐜𝐬𝐢𝐧(𝟎)) =

𝝅√𝟐

𝟒
(𝒑𝒓𝒐𝒗𝒆𝒅) 

∫
𝒅𝒙

𝒙√−𝒙𝟒 + 𝟑𝒙𝟐 − 𝟐

√𝟐

𝟏

=
𝝅√𝟐

𝟒
 

 


